Przebudowa drogi gminnej Nr 100436 (ul. Dzierzona) w Wotczynie - etap I

TABELA ROBOT ZIEMNYCH
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- M7 | [m] [m’] [m’] M | m] | ] | m] | ] [ m] | ] | [m]
1 2 3 4 5 6 7 8 9 10 11 12 13 14
ODCINEK F-F'
0 0,00 0,741 0,004
0 12,00 1,647 0,000 1,194 0,002 12,00 14,33 0,02 0,02 14,30 14,30
0 24,48 3,789 0,000 2,718 0,000 12,48 33,92 0,00 33,92 48,22
suma: 48,25 0,02 0,02 48,22
ODCINEK H-H'
0 0,00 1,329 0,067
0 12,00 1,278 0,033 1,304 0,050 12,00 15,64 0,60 0,60 15,04 15,04
0 24,82 3,172 0,000 2,225 0,017 12,82 28,52 0,21 0,21 28,31 43,35
suma: 4417 0,81 0,81 43,35
ODCINEK J-J'
0 0,00 2,216 0,000
0 12,00 1,865 0,000 2,041 0,000 12,00 24,49 0,00 24,49 24,49
0 23,92 2,876 0,000 2,371 0,000 11,92 28,26 0,00 28,26 52,74
suma: 52,74 0,00 0,00 52,74
ODCINEK L-L'
0 0,00 2,075 0,000
0 12,00 1,528 0,010 1,802 0,005 12,00 21,62 0,06 0,06 21,56 21,56
0 29,17 2,756 0,000 2,142 0,005 17,17 36,78 0,09 0,09 36,69 58,25
suma: 58,40 0,15 0,15 58,25
ODCINEK M-M'
0 0,00 1,657 0,000
0 12,00 1,611 0,010 1,634 0,005 12,00 19,61 0,06 0,06 19,55 19,55
0 27,06 2,803 0,000 2,207 0,005 15,06 33,24 0,08 0,08 33,16 52,71
suma: 52,85 0,14 0,14 52,71
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M7 | [m] [m’] [m’] M | m] | ] | m] | ] [ m] | ] | [m]
1 2 3 4 5 6 7 8 9 10 11 12 13 14
ODCINEK O-0'
o | 0,00 0,334 0,907
0 12,00 1,343 0,088 0,839 0,498 12,00 10,06 5,97 5,97 4,09 4,09
0 28,50 1,371 0,084 1,357 0,086 16,50 22,39 1,42 1,42 20,97 25,06
suma: 32,45 7,39 7,39 25,06
WJAZDY NA ODCINKACH F-F'; H-H'; J-J"; L-L"; M-M'; O-O'
koryto gteboko$ci 25 cm 0,25*29,85 | 7,46 0,00 0,00 7,46 7,46
ogotem: | 296,31 8,51 8,51 287,81 287,81
sprawdz. 296,31 8,51 = 287,81




